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TRUONG DAl HOC VAN LANG
PON VI: KHOA NGOAI NGU

DE THI VA PAP AN
THI KET THUC HQC PHAN
Hoc ky 1, nam hoc 2023-2024

I. Thong tin chung

Tén hoc phan: | Ngit &m va &m vi hoc tiéng Anh

M4 hoc phan: | 72ENGL40303 Sé tin chi: | 3
M4a nhém 16p hoc phan: | 232_72ENGL40303 01
Hinh thie thi: Tric nghiém két hop Tw luan Thoi gian 1am bai: | 75 | phat
Thi sinh dwoc tham khdo tai liéu: [1Cé Khéng
I1. Cac yéu cau caa dé thi nhim dap wng CLO
Lay dir
Ky Hinh Trongs6 CLO | Cau | Piém | liéu do
hiéu Néi dung CLO thiec | trong thanh phan | héi ) lwong
CLO danh gia | danh gia (%) | thisd | téi da | mirc dat
PLO/PI
@ | 2) 3) (4) ®) | (6) ()
CLO 1 | Ap dung kien
thirc vé céch phét ’
am va cac bo phan Trac
phat am tiéng Anh | nghiém 15 112 015
trong viéc phat
am
CLO 2 | Van dung kién
thirc vé ngir am va
am vj dé xéc dinh
cac hién tuong 2
~ A Trac
ngir am trong nghigm 20 13-50 | 0.15
tieng Anh (nhan '
am, giam am, ndi
am, trong am va
ngtr diéu).
CLO 3 | Phan biét dac
diém, cac bo phan Tre
phat &m cua cac . 15 1-12 | 0.15
A nghiém
am tuong ty trong
tiéng Anh
CLO 4 | Thiét lap ki ning
phan tich cac hién | Tu luan 50 1-10 | 0.25
tugng nglr am, &m
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vi khi phién am tu
vung trong tiéng
Anh theo bang ki
hiéu ngix &m quéc
té IPA.

I11. Ngi dung cau hei thi . .
PHAN TRAC NGHIEM (50 cdu, 7.5 diém, 0.15 diém/cau)

Which word contains a velar nasal?
A. think

B. naughty

C. lend

D. tin

ANSWER: A

Which word DOES NOT contain a semi-vowel?
A. who

B. what

C. pure

D. twit

ANSWER: A

Which consonant does the following description refer to? “The tongue tip touches the inside
of the lower teeth, and the blade touches the inside of the upper teeth. ”

A. dental

B. plosive

C. fricative
D. lateral
ANSWER: A

Which word begins and ends with a FRICATIVE?
A. thoughts

B. peppers

C. changes

D. fridge
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ANSWER: A

When describing a consonant, such aspects as place of articulation, of
articulation and voicing are taken into consideration.

A. manner

B. tongue height
C. devoicing

D. backness
ANSWER: A

Choose the FALSE statement.

A. Any consonant is made with vocal vibration.

B. Phonologically, a consonant occurs at the edge of a syllable.

C. There is some obstruction or narrowing in the vocal tract when pronouncing a consonant.

D. Consonant cluster is when some consonants are pronounced together in a coda or in an
onset.

ANSWER: A

Which word contains an alveolar fricative?
A. tries

B. fresh

C. bridge

D. coughed

ANSWER: A

Which word has a plosive consonant which is aspirated?
A. tall

B. study

C. speak

D. depth

ANSWER: A

A/An vowel is a vowel for which there is (relatively) little space between the
surface of the tongue and the roof of the mouth.
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A. close
B. open
C. front
D. back
ANSWER: A

Ina___,amovement is made quickly from one vowel to another and then the third.
A. triphthong

B. monophthong

C. diphthong

D. peak

ANSWER: A

The shared vowel in the following words: “short”, “pot”, “hood”, “star” is a/an
vowel.

A. back

B. close

C. open

D. central
ANSWER: A

Choose the FALSE statement.

A. Phonetically, a vowel is pronounced without absence of obstruction in the vocal tract.
B. Phonetically, a vowel is pronounced with vocal fold vibration.

C. Phonologically, a vowel occurs at the center of a syllable.

D. A vowel becomes longer in pronunciation when it is followed by a voiced consonant.
ANSWER: A

Which word contains a long monophthong?
A. meat

B. read (past form)

C. spreading

D. engine
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ANSWER: A

Which word has a vowel which is SHORTENED when pronounced?
A. fat

B. bed

C. hedge

D. tub

ANSWER: A

Which word DOESN’T carry a diphthong?
A. novel

B. break

C.fly

D. hold

ANSWER: A

A syllable containing a is always an unstressed syllable.
A. schwa

B. long vowel

C. strong vowel

D. secondary stress

ANSWER: A

An open syllable has at the end of it.

A. no consonant
B. one vowel

C. a consonant
D. some vowels
ANSWER: A

Which of the following has the LEAST number of syllables?
A. accomplishment

B. architectural
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C. experimental
D. vegetarian
ANSWER: A

A closed syllable has at the end of it.

A. a consonant
B. one vowel

C. no consonant
D. some vowels
ANSWER: A

In a syllable, the MAXIMUM number of consonants inan ONSET is___ consonants.
A.3

B.2

C.4

D.5

ANSWER: A

Which word has two STRONG syllables?
A. unloved

B. aloud

C. any

D. paper

ANSWER: A

How many syllables are there in the word “classification”?
A.5

B.6

C.4

D.7

ANSWER: A

Which affix can affect a stress placement?

Trang 6/ 13



BM-003

. -ity

re-

-ing

-ly
ANSWER: A

o0 w»

Which word has the main stress on the first syllable?
A. architecture

B. decreasing

C. abundance

D. official

ANSWER: A

Choose the word whose main stress position is different from that of the other words.
A. actually

B. allergic

C. maintaining

D. assurance

ANSWER: A

Which word has the same main stress position as the word “industry”?
A. present (noun)

B. technician

C. present (verb)

D. event

ANSWER: A

Which word DOESN’T have a SECONDARY stress?
A. memorial

B. education

C. enthusiastic

D. engineering

ANSWER: A
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Choose an appropriate tone mark for the BOLD, CAPITAL syllable to indicate the
speaker’s attitude.

“I don’t want to know where; [ want to know WHEN.” (The speaker wants to emphasize
“when” rather than “where”)

A. fall

B. rise

C. fall-rise
D. rise-fall
ANSWER: A

Choose an appropriate tone mark for the BOLD, CAPITAL syllable to indicate the
speaker’s attitude.

“You may choose among these colors: RED, blue or brown.” (The speaker wants to offer a
choice.)

A. rise

B. fall

C. fall-rise
D. rise-fall
ANSWER: A

Choose an appropriate tone mark for the BOLD, CAPITAL syllable to indicate the
speaker’s attitude.

“She is doing a good job, ISN’T she?” (The speaker wants to confirm that his knowledge is
true.)

A. fall

B. rise

C. fall-rise
D. rise-fall
ANSWER: A

Choose an appropriate tone mark for the BOLD, CAPITAL syllable to indicate the
speaker’s attitude.

“Do you love ROSE?” (The speaker wants to ask for information for the first time.)
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A. rise

B. fall

C. fall-rise
D. rise-fall
ANSWER: A

Choose an appropriate tone mark for the BOLD, CAPITAL syllable to indicate the
speaker’s attitude.

“What did you SAY?” (The speaker wants the listener to repeat the information.)
A. rise

B. fall

C. fall-rise

D. rise-fall

ANSWER: A

Which sound structure is correct for ‘scratch? (C = a consonant, V = a vowel, VV =
diphthongs)

A.CCCVC
B. CCCVvVC
C. CCvVC
D. CCCVvCC
ANSWER: A

Which sound structure is correct for ‘phased? (C = a consonant, V = a vowel, VV =
diphthongs)

A.CVvVCC
B. CCVVCC
C.CvCC

D. CCVvVC
ANSWER: A

Which sound structure is correct for ‘string? (C = a consonant, V = a vowel, VV = diphthongs)
A.CCCVC
B. CCCVCC
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C. CCCVvVCC
D.CCVC
ANSWER: A

Which sound structure is correct for ‘weather? (C = a consonant, V = a vowel, VV =
diphthongs)

A. CVCV

B. CCVCCVC

C.CVvVvCVvC

D.CVvCVC

ANSWER: A

Which sound structure is correct for ‘archive? (C = a consonant, V = a vowel, VV =
diphthongs)

A.VCVVC

B. VCCCVCV
C.VvCCcVvC

D. VCCVCV
ANSWER: A

What is the correct phonemic transcription for the word “police”?
A. Ipa'lizs/

B. /pa'li:z/

C. Ipo:'lizs/

D. I'pols/

ANSWER: A

What is the correct phonemic transcription for the word “correct”?
A. Ika'rekt/

B. /ko:'rekt/

C. I'ko:rekt/

D. I'ks:rekt/

ANSWER: A

What is the correct phonemic transcription for the word “mission”?
A. I'mifn/
B. /'mifon/
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C. /mifan/
D. /mi:'n/
ANSWER: A

The “onset” element in the monosyllable word “pleased” is
A. Ipl/

B. /sd/

C. Ip/

D. /d/

ANSWER: A

The “coda” element in the monosyllable word “lasts” is
A. Ists/

B. /st/

C. Its/

D. /N

ANSWER: A

How many types of diphthongs are there in British English phonology? What are they?
A. 2: centring and closing

B. 3: monophthongs, diphthongs and triphthongs

C. 3: centring, closing and backing

D. 2: backing and fronting

ANSWER: A

How many monophthongs are there in British English phonology?
A. 12

B.8

C.20

D.5

ANSWER: A

How many consonants are there in British English phonology?
A. 24

B. 12

C. 16

D.8

ANSWER: A

Which consonant has the characteristics of a vowel?

A. Iw/
B. /t/
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C. /el
D. Ip/
ANSWER: A

In which of the following words can dark /I/ be found?
A. eel

B. loud

C. slow

D. lord

ANSWER: A

Which of the following words has the longest monophthong?
A. bead

B. sweat

C. make

D. tick

ANSWER: A

A syllabic consonant can be found in the word “beautiful”.
A. The above statement is true.

B. The above statement is false.

ANSWER: A

The syllable structure for the monosyllable word “SPRING” is “onset + center + coda”.
What is another term that also refers to “center”?

A. peak

B. rhyme

C. semi-vowel

D. pitch

ANSWER: A

PHAN TU LUAN (2.5 PIEM, 10 cau, 0.25 diém/cau)

Write the correct spelling from each of the phonemic transcriptions.
Question 1: /'a:gnaizd/

Question 2: /'harfn/

Question 3: /br'giniy/

Question 4: /a'ridznl/

Question 5: /'a:fnidz/

Question 6: /'pi:sfli/

Question 7: /'faraplers/

Question 8: / o:lta'geda/

Question 9: / probla'meetik/
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Question 10: /a'tfizvmant/

DPAP AN PHAN TU LUAN VA THANG PIEM

Answer to question 1: organized/ organised
Answer to question 2: hyphen

Answer to question 3: beginning

Answer to question 4: original

Answer to question 5: orphanage

Answer to question 6: peacefully

Answer to question 7: fireplace

Answer to question 8: altogether

Answer to question 9: problematic

Answer to question 10: achievement

TP. Hé Chi Minh, ngay 08 thing 03 nam 2024

P. Trwéng bo moén Giang vién ra dé

™~

ThS. Cao Thi Xuan Tu ThS. Nguyén Huy Cuong
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